Example #5 - Nini Cement Plant

Data for a Plant in China with a Carbon Dioxide Emissions Reduction Target
Your target is a CO2 reduction of 50,000 tonnes CO2 per year. After you benchmark your plant, construct an energy management plan to achieve your savings goal using the energy efficiency measures section of the tool. 

Raw Materials used at your plant (tonnes/year): 


Limestone: 
1,500,000 


Gypsum: 
50,000

Clay minerals: 
0

Iron ore: 
0

Blast furnace slag: 
100,000


Other slags: 
50,000


Fly ash: 
0

Natural pozzolans: 
100,000


Limestone powder: 
0

Municipal wastes: 
0

Other 1: 
0

Other 2: 
0
You preblend and crush all of your raw materials. 

You only dry the slags you add to your raw material mix, but you grind all slags and pozzolans. 

Both of your kilns are NSP kilns, one produces 250,000 tonnes/year of clinker and one produces 750,000 tonnes/year of clinker. 

You produce the following cement types: 

500,000 tonnes/year of pure Portland cement of the lowest quality (42.5/42.5R)

250,000 tonnes/year of 32.5 slag cement 

250,000 tonnes/year of 42.5 slag cement

250,000 tonnes/year of 52.5R Pozzolana cement

All mills at your plant are ball mills. You grind 155,555 tonnes of coal. A quarry is not located at your site and you do not generate any electricity on site. 
You purchase and use electricity for the following processes (kWh/year): 


Preblending: 
3,500,000


Crushing: 
1,500,000


Grinding: 
42,400,000


Additive crushing and grinding: 
20,000,000

Fuel grinding: 
5,500,000


Homogenization: 
4,000,000


Kiln preheaters: 
140,000,000


Clinker cooler: 
4,500,000


Cement grinding: 
75,500,000

Other conveying and auxiliaries: 
14,250,000

Other electricity: 
2,000,000
You use coal for the following processes: 

Additive drying: 5,000,000 kg of cleaned coal 
Precalciners: 5,555,500 kg of cleaned coal

Kiln: 145,000,000 kg of cleaned coal

You pay 0.5RMB/kWh for electricity and 0.7 RMB/kgce for coal
